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Theoretical part

1. The concept of microeconomics. Subjects Microeconomics

2. The concept of economic rationalism / The problem of economic choice

3. The concept of the method of microeconomics. The use of general economic and specific techniques in microeconomics

4. Axioms of consumer behavior

5. Household as an economic entity

6. The concept of utility. Types of utility

7. Utility theory: the main kardinalizm
8. Utility theory: the main ordinalizm

9. The curve of indifference. Properties of indifference curves

10. Budget constraints. Budget line

11. The substitution effect: the concept and graphic interpretation

12. The effect of income: the concept and graphic interpretation

13. Individual and market demand

14. The concept of competition, types and methods of competition

15. The concept of market structure. Types of Markets

16. Characteristics of the perfect (pure) competition.

17. Profit maximization in conditions of perfect competition

18. Perfect competition and efficiency

19. Characteristics of pure monopoly

20. Types of monopolies. Monopsony. Bilateral monopoly. Natural monopoly, open, closed, organizational.

21. Profit maximization in a pure monopoly

22. The effectiveness of pure monopoly. Pros and cons of pure monopoly.

23. Price discrimination: concept and types.

24. Monopolistic competition

25. The balance of firms in monopolistic competition

26. Non-price competition in a monopolistic competition

27. Public effectiveness of monopolistic competition. Pros and cons of monopolistic competition

28. The concept and features of oligopoly. Oligopsony. Duopoly

29. Models of oligopoly. Price wars. Collusion in terms of sales. Conspiracy to as

30. Public effectiveness oligopoly. Pros and cons of oligopoly

31. Market and monopoly power. Antimonopoly regulation

32. Indicators of monopoly power

33. The composition and characteristics of the market of productive resources

34. Characteristics of the participants and the labor market

35. Competition in the labor market. Labor markets are perfect and imperfect competition

36. The price of the labor market.

37. Market failure: causes, consequences and corrective actions
38. State regulation of wages

39. The composition and characteristics of the capital market

40. Optimize investments in the short term

41. Optimize investments in the long term.

42. The concept of capital market. Nominal and real interest rate

43. Sources of loan capital

44. The securities market. The main types of securities and their characteristics

45. Entrepreneurial ability as a factor of production.

46. ​​Earth as a factor of production: concept, main features and characteristics

47. Formation of supply and demand in the land market.

48. The economic content of ground rent. Types of land rent

49. Pricing in the land market

50. The concept of public performance. Pareto efficiency and its types

51. The economic efficiency and social justice. The main approaches to the assessment of fairness

52. Production possibility curve. Externalities: concept and essence.
53. Types of externalities. Negative and positive externalities and their consequences
54. The concept of the internalisation of external effects. Ways to internalize externalities
55. Information as a factor of production. The value of information in the market economy
56. Uncertainty information information. Incomplete and asymmetric information
57. The concept of moral hazard. Moral hazard and insurance market
58. The notion of the public good. Properties of public goods
59. Kvazipublic benefits: definition and properties
60. Public Choice Theory: the concept and the concept of public choice
61. Politics as an exchange. Participants in the political process and their purpose
62. The fiasco of the state: the concept and reasons
Practical part

1. The company produces children's toys. The volume of production of 50 pieces. Average variable cost (AVC) $ 2, The total fixed costs (TFC) $ 50. Calculate the firm's total costs (TC) and average total cost (ATC).
2. The company produces children's toys. The volume of production of 100 pieces. Average variable cost (AVC) $ 3. The total fixed costs (TFC) $ 150. Calculate the firm's total costs (TC) and average total cost (ATC).
3. The company produces 500 kg of flour. Average variable cost (AVC) is 4 dollars, total fixed costs (TFC) $ 200. Calculate the firm's total costs (TC) and average total cost (ATC).
4. The company produces 300 kg of flour. Average variable cost (AVC) is 3 dollars, total fixed costs (TFC) $ 300. Calculate the firm's total costs (TC) and average total cost (ATC).
5. Some farmer grows geese. Market price $ 8 for one goose. We know the cost of the farmer. How many geese should produce farmer? Find the optimal output.
	Possible output, geese
	0
	10
	20
	30
	40
	50

	Total cost, $
	40
	70
	110
	170
	250
	340


6. Some farmer grows geese. Market price $ 8 for one goose. We know the cost of the farmer. Build 1) line of total income, 2) line of total costs, and 3) a line profits of the farmer .

	Possible output, geese
	0
	10
	20
	30
	40
	50

	Total cost, $
	40
	70
	110
	170
	250
	340


7. Some farmer grows chickens. Market price $ 3 for one chickens. We know the cost of the farmer. How many chickens should produce farmer? Find the optimal output.
	Possible output,  chickens
	0
	10
	20
	30
	40
	50

	Total cost, $
	40
	70
	110
	170
	250
	340


8. Some farmer grows chickens. Market price $ 3 for one chickens. We know the cost of the farmer.  Build 1) line of total income, 2) line of total costs, and 3) a line profits of the farmer
	Possible output,  chickens
	0
	10
	20
	30
	40
	50

	Total cost, $
	40
	70
	110
	170
	250
	340


9. There is information about a market of perfect competition. The company manufactures the 
	product. The market price of 40 dollars. apiece. Determine the optimal output for the firm.

Объем производства (output), шт.
	0
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	Общие затраты (Total cost), тыс. руб.
	50
	100
	128
	148
	162
	180
	200
	222
	260
	325
	360


10. There is information about a market of perfect competition. The company manufactures the 

product. The market price of 40 dollars. apiece. Build 1) line of total income, 2) line of total costs, and 3) a line profits for the company.

	Объем производства (output), шт.
	0
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	Общие затраты (Total cost), тыс. руб.
	50
	100
	128
	148
	162
	180
	200
	222
	260
	325
	360


11. The company may sell 10 bikes at a price of $ 100 per unit. To sell 11 units, it is necessary to reduce the price of $ 99.5. Calculate the marginal revenue (MR) from sales with 10 to 11 units.
12. The company may sell 100 bikes at a price of $ 100 per unit. To sell 110 bikes, it is necessary to reduce the price of $ 99.5. Calculate the marginal revenue (MR) from sales with 10 to 11 units.
13. The company produces 100 kg of cookies. Average variable costs are $ 5., Total fixed - $ 200. Determine the average total cost (ATC).

14. The company produces 200 kg of the pasta. Average variable costs (AVC) are $ 5., Total fixed costs (AFC)- $ 200. Determine the average total cost (ATC).

15. The company produces 100 kg of cookies. Total costs (TC) are $ 500., including total fixed cost (TFC) - $ 200. Determine the average variable cost (AVC).

16. Calculate the Herfindahl-Hirschman index for the market in which the firm operates one.

17. Calculate the Herfindahl-Hirschman index for the market, which operates two equal-sized firms.

18. In the market there are three of the seller. Firm number 1 selling 10% of total sales, the company number 2 - 40%, the firm number 3 - 50%. Calculate CR-2, and HHI for this market.
19. The market work twenty sellers with equal shares of sales. Determine the CR-10 and HHI for this market.
20. Our city has a unique master who sews men's suits. He can independently reduce and increase the price. When he lowers the price, sales are growing. The rent master pays 1 mln. Rubles. Fabric (material) and other variable costs - 0,5 mln. Rubles. one suit. Determine the optimal price for a monopolist.

	Цена, млн. руб.
	11
	10
	9
	8
	7
	6
	5
	4
	3
	2

	Количество, ед.
	0
	1
	2
	3
	4
	5
	6
	7
	8
	9


21. In any country the only farmer grows pineapples. Three hypermarkets buy pineapples from farmers. Information on the cost of the farmer: AVC = 10 rubles.,   TFC = 500 rubles. The farmer can change the price. If the price changes, the demand is also changing. Information on individual demand hypermarkets presented in the table. Determine the optimal price for the farmer.
	Цена, руб.
	Спрос D1,  ед.
	Спрос D2, ед.
	Спрос D3, ед.

	А
	Гр. 1
	Гр.2
	Гр.3

	300
	1
	0
	2

	250
	2
	1
	3

	200
	3
	2
	4

	170
	4
	3
	5


22. There is information on the market of flour  in any country. Calculate CR-2, CR-3, CR-4
	product
	selling
	Предприятие / the company

	
	
	1
	2
	3
	4
	5
	Total

	Мука / flour
	Тонн / tons
	500
	500
	500
	500
	500
	2500


23. There is information on the market of flour  in any country. Calculate HHI

	product
	selling
	Предприятие / the company

	
	
	1
	2
	3
	4
	5
	Total

	Мука / flour
	Тонн / tons
	500
	500
	500
	500
	500
	2500


24. There is information on the market of  sugar market in any country. Calculate CR-2, CR-3, CR-4
	product
	selling
	Предприятие / the company

	
	
	1
	2
	3
	4
	5
	Total

	Сахар / sugar
	Тонн / tons
	100
	40
	30
	20
	10
	200


25. There is information on the market of  sugar market in any country. Calculate HHI.

	product
	selling
	Предприятие / the company

	
	
	1
	2
	3
	4
	5
	Total

	Сахар / sugar
	Тонн / tons
	100
	40
	30
	20
	10
	200


26. Parents give his son $ 20 a week. Boy to spend the money to buy magazines and pool. One magazine costs 0.5 dollars. One hour in the pool costs $ 1. Draw a budget line for the boy. Write the equation of the budget line boy
27. Parents give his son $ 20 a week. Boy to spend the money to buy magazines and pool. One magazine costs 1 dollars. One hour in the pool costs $ 1. Write the equation of the budget line boy. Draw a budget line for the boy.

28. Parents give his son $ 20 a week. Boy to spend the money to buy magazines and pool. One magazine costs 0.5 dollars. One hour in the pool costs $ 1.

How to change the position of the budget line, if the price of the magazine will increase in 2 times?

Write the equation of the budget line for the old and the new budget line.

29. Parents give his son $ 30 a week. Boy to spend the money to buy magazines and pool. One magazine costs 2 dollars. One hour in the pool costs $ 1. Draw a budget line for the boy. Write the equation of the budget line boy.
30. Parents give his son $ 30 a week. Boy to spend the money to buy magazines and pool. One magazine costs 2 dollars. One hour in the pool costs $ 1. Write the equation of the budget line boy. Draw a budget line for the boy.

31. Parents give his son $ 20 a week. Boy to spend the money to buy magazines and pool. One magazine costs 2 dollars. One hour in the pool costs $ 2. How to change the position of the budget line, if the price of the magazine will increase in 2 times? Write the equation of the budget line for the old and the new budget line.
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